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] 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 25 — - ~ — —|3mZERBZB -~ — — —
ThLlst 100 | 000 ~ 654 8237 | #hlist | 000 ~ 000 | 1.57 7.91 ZThs 1.00 | 500 ~ 877 8237 | #hblist | 500 ~ 877 | 1.57 7.91
) 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2% — - ~ — —|3mZERBZB -~ — — —
ThLlst 100 | 000 ~ 6.33 7958 | #hust [ 000 ~ 0.00 | 1.60 8.07 ZThs 1.00 | 500 ~ 796 7958 | #h4t | 500 ~ 7.96 | 1.60 8.07
3 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2% — - ~ — —|3mZERBZB -~ — — —
ThLlst 100 | 000 ~ 6.36 80.04 | #hlist | 000 ~ 636 | 1.79 9.07 ZThs 1.00 | 500 ~ 750 80.04 | #hbList | 500 ~ 750 | 1.79 9.07
4 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2z % — - ~ — —|3mZERBZB -~ — — —
ThLlst 100 | 000 ~ 7.24 9210 | #hlist | 000 ~ 000 | 1.67 8.46 ZThs 1.00 | 500 ~ 945 9210 | #hblist | 500 ~ 945| 1.67 8.46
5 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2% — - ~ — —|3mZERBZB -~ — — —
ThLlst 100 | 000 ~ 648 8157 | #hblist | 000 ~ 648 | 1.81 9.15 ZThs 1.00 | 500 ~ 7.74 8157 | #hlist | 500 ~ 7.74| 1.81 9.15
6 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2% — - ~ — —|3mZERBZB -~ — — —
ThLlst 100 | 000 ~ 7.06 89.67 | #hlist | 000 ~ 000 | 1.64 8.30 ZThs 1.00 | 500 ~ 925 89.67 | #hlist | 500 ~ 925 | 1.64 8.30
. 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2z 5 — - ~ — —|3mZERBZB -~ — — —
ZThLlst 100 | 000 ~ 6.90 8741 | #hlist | 000 ~ 6.90 | 1.93 9.77 ZThs 1.00 | 500 ~ 9.12 87.41 | #hbist | 500 ~ 912 | 1.93 9.77
8 100kN/MZ#8 % % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2% — - ~ — —|3mZERBZB -~ — — —
ThLlst 100 | 000 ~ 746 95.36 | #hlist | 000 ~ 000 | 1.72 8.70 ZThs 1.00 | 500 ~ 9380 95.36 | #h L4t | 500 ~ 980 | 1.72 8.70
9 100kN/MZ#8 % % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2z 5 — - ~ — —|3mZERBZB -~ — — —
ZThLlst 100 | 000 ~ 7.09 90.10 | #h it | 000 ~ 0.00 | 1.71 8.63 ZThs 1.00 | 500 ~ 898 90.10 | #hblist | 500 ~ 898 | 1.71 8.63
10 100kN/MZ#8 % % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2z 5 — - ~ — —|3mZERBZB -~ — — —
ThLlst 100 | 000 ~ 6.11 76.66 | #HL4t | 000 ~ 000 | 1.73 8.76 ZThs 1.00 | 500 ~ 7.02 76.66 | #H 4t | 5.00 ~ 7.02 | 1.73 8.76
» 100kN/MZ#8 % % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2z 5 — - ~ — —|3mZERBZB -~ — — —
ZThLlst 100 | 000 ~ 6.04 75.70 | #H4t | 000 ~ 0.00 | 1.67 8.44 ZThs 1.00 | 500 ~ 7.00 75.70 | #Hu4t | 5.00 ~ 7.00 | 1.67 8.44
1 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 25 — - ~ — —|3mZERBZB -~ — — —
ThLlst 100 | 000 ~ 6.16 77.31 | #hst | 000 ~ 6.16 | 1.90 9.62 ZThs 1.00 | 500 ~ 750 77.31 | #hust | 500 ~ 7.50 | 1.90 9.62
13 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2% — - ~ — —|3mZERBZB -~ — — —
ZhLlst 100 | 000 ~ 6.70 8462 | #hlist | 000 ~ 6.70 | 1.84 9.31 ZThs 1.00 | 500 ~ 825 8462 | #hiist | 500 ~ 825 | 1.84 9.31
14 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2% — - ~ — —|3mZERBZB -~ — — —
ZThLlst 100 | 000 ~ 645 81.16 | #hlist | 000 ~ 000 | 1.65 8.36 ZThs 1.00 | 500 ~ 782 81.16 | #h it | 500 ~ 7.82| 1.65 8.36
15 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2% — - ~ — —|3mZERBZB -~ — — —
Zh st 100 | 000 ~ 6.73 85.01 | #hlist | 000 ~ 000 | 1.57 7.93 Zh s 1.00 | 500 ~ 920 85.01 | #h it | 500 ~ 920 | 1.57 7.93 |
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16 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 25 — - ~ — —|3mZERBZB -~ - — —
ThLlst 1.00 | 000 ~ 6.95 88.05 | #hList | 000 ~ 0.00 | 1.61 8.11 ZThs 1.00 | 500 ~ 930 88.05 | #hList | 500 ~ 9.30 | 1.61 8.1
17 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2% — - ~ — —|3mZERBZB -~ - — —
ThLlst 1.00 | 000 ~ 6.30 79.23 | #h4t | 000 ~ 0.00 | 1.69 8.54 ZThs 100 | 500 ~ 742 79.23 | #hust | 500 ~ 7.42 | 1.69 8.54
18 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2% — - ~ — —|3mZERBZB -~ - — —
ThLlst 1.00 | 000 ~ 6.05 75.89 | #hust [ 000 ~ 000 | 1.70 857 ZThs 100 | 500 ~ 696 75.89 | #h4t | 500 ~ 696 | 1.70 8.57
19 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2z % — - ~ — —|3mZERBZB -~ - — —
ThLlst 1.00 | 000 ~ 485 60.43 | #hlist | 000 ~ 000 | 1.72 8.67 ZThs 100 | 500 ~ 510 60.43 | #hlist | 500 ~ 510 | 1.72 8.67
20 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2% — - ~ — —|3mZERBZB -~ - — —
ThLlst 1.00 | 000 ~ 538 6712 | #hlist | 000 ~ 000 | 1.73 8.76 ZThs 100 | 500 ~ 585 6712 | #hbist | 500 ~ 585 | 1.73 8.76
’1 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2% — - ~ — —|3mZERBZB -~ - — —
ThLlst 1.00 | 000 ~ 529 6597 | #hlist | 000 ~ 529 | 1.88 9.50 ZThs 100 | 500 ~ 598 6597 | #hblist | 500 ~ 598 | 1.88 9.50
29 100kN/MZ#8% % — -~ — —|[3mZiBZ D -~ — - — | 100kN/mM%E#B 2z 5 — - ~ — —|3mZERBZB -~ - — —
ZThLlst 1.00 | 000 ~ 527 65.66 | #hList | 000 ~ 527 | 1.88 9.50 ZThs 100 | 500 ~ 594 65.66 | #hList | 500 ~ 594 | 1.88 9.50
100kN/MZ#8 % % ~ ImEBZD ~ 100kN/m%Z#B 2% ~ ImEHBZS ~
ThLlst ~ NS ~ ZThs ~ zh st ~
100kN/MZ#8 % % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZThLlst ~ NS ~ ZThs ~ Zzh st ~
100kN/MZ#8 % % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ThLlst ~ NS ~ ZThs ~ Zzh st ~
100kN/MZ#8 % % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZThLlst ~ NS ~ ZThs ~ Zzh st ~
100kN/MZ#8% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ThLlst ~ NS ~ ZThs ~ Zzh st ~
100kN/MZ#8% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZhLlst ~ NS ~ ZThs ~ zh st ~
100kN/MZ#8% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEHBZS ~
ZThLlst ~ NS ~ ZThs ~ Zzh st ~
100kN/MZ#8% % ~ ImEBZD ~ 100kN/m%Z#B 2% ~ ImEHBZS ~
Zh st ~ ZHLS ~ Zh s ~ Zh st ~
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